Al O &F A Al
S 2014 LBESI A OIS XIH
Jl e X2 ot
SAIHEE
SA0Y 3HH 2 (Sl & &)
o
SN P SA(EN) - MBAY - BES e HlDE2
2 0t 7,552,658 7,299,773 252,885
= 908,000
< 323,108
Al 6,321,550
& E 2,746,400 2,445,220 301,180
< 9,000
Al 2,737,400
201 Y 2 XA 326,400 295,220 31,180
< 9,000
Al 317,400
SM)Y 2=HE HZXA 84,000 20,000 64,000
307 21201 A 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
Oyezcuzs N
2,000, 000& «1571 & Xl 30,000
403 A X EHHS =0l A 54,000 20,000 34,000
02 S| 2SO0l CHEHCH & AF B 54,000 20,000 34,000
ORF=2(ZAJIEHE Y 28s8) 29
14,000,000& * 14 14,000
OZAIIHHMSAM UHY AIAE 2=
40,000,000 * 14! 40,000
EEHCIAQ XA 14,400 35,220 220,820
403 UtXISHH S X201 & 14,400 0 14,400
02 BII2SOICHSHCH A HI 14,400 0 14,400
OsA2Jlg 2=HM3 CX HLX&
14,400,000& =14 14,400
=303 &43soHeg 30,000 25,000 5,000
< 9,000
Al 21,000
307 glz2+ol & 30,000 25,000 5,000
< 9,000
Al 21,000
02 QB AANGFEX 30,000 25,000 5,000
O30S 433 X
30,000,000 * 14! 30,000
< 9,000
Al 21,000
Folg x4 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
02 It MAMHEE 30,000 30,000 0
Oostd Fdsotel X 15,000,000& * 14 15,000
OXYgESHH 29 X 15,000, 0003 * 14! 15,000
ANgolgnsexras N 80,000 102,000 A 22,000
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a5

S B

& X2
e R RN

201 3E LA

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 80,000 0 80,000
02 I AAS R 80,000 0 80,000
OXglg DEHEHIEAE FRa M)A
 EXS 80,000,000 » 14! 80,000
S2J|PUF 243 8,000 3,000 5,000
307 glz2tol & 8,000 3,000 5,000
02 It M AHE X 5,000 0 5,000
O04gigel A2dst AIS
5,000,000& =14 5,000
04 DIZHHALALSE E X 3,000 3,000 0
O3 8guz3 HdeUsl
3,000,000& =14 3,000
S AE2Es =2 & 80,000 80,000 0
307 gl2tol & 80,000 0 80,000
02 IZtA M AIHE L 80,000 0 80,000
OZ4JIg UBEE 442 Xd
2,000,000& *40H At 80,000
SUHAL JIYgRX A 2,420,000 2,150,000 270,000
o1&l XI& EX 2,420,000 2,150,000 270,000
402 RIZ2HXt20l ™ 2,420,000 2,150,000 270,000
01 A TtEAEEX 2,420,000 2,150,000 270,000
Ool&Jlg X3yl 2,420,000,000& 14 2,420,000
sa0Y 3SXd 869,000 1,492,000 A 623,000
SN EsEA=KE 869,000 1,492,000 A 623,000
SaIEgsEN=s A& 869,000 1,492,000 A 623,000
306 93 369,000 992,000 A 623,000
01 &= 369,000 992,000 A 623,000
O3 26 sSA01gsdlIs &4
369,000,000 14 369,000
307 21201 A 500,000 500,000 0
08 OIXt2 &= 500,000 500,000 0
OsAJIgEL8I= 0IxEd
500,000,000 » 14! 500,000
N RAES 210,600 210,600 0
==Z ¥ L3 210,600 210,600 0
HelAIE B2 =Y 200,600 200,600 0
201 Let24E] 2,000 2,000 0
03 A2 Z Hl 2,000 2,000 0
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=L
el +EFMAYs (sl &2)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OGTIEtES JAFA 22 229
2,000,000& x14l 2,000
202 o4 | 3,600 3,600 0
01 2Ll 3,600 3,600 0
Ox==NAY =80 H| 300,000 x12& 3,600
403 XX SRS K20 & 195,000 195,000 0
02 2J| 2 S 0l CH St CH & AF 195,000 195,000 0
QoA PAAIECH IHA 40,000,000 23] 80,000
OdHAME E A2 =IO
5,000,000 1020 At 50,000
Odll 2 XIAFSH AP X & 2,000,000 =100 At 20,000
Oz NIAY 10,000,000 * 14l 10,000
OHAMEE XAS 1,000,000 = 109K Ak 10,000
Qo= zZ4dl KNSALS 1,000, 000& x10JH Ak 10,000
O£x==J|g alAoAHEY &9 n=sd XA
1,000, 000& =150 Ak 15,000
228 RANMSI LA 10,000 10,000 0
306 =432 10,000 10,000 0
o1 s 3 10,000 10,000 0
O22Y UL} YLAL
10,000, 000 » 14! 10,000
L AI23HA = 1,333,753 770,519 563,234
&< 26,000
Al 1,307,753
S AFSHE K& 1,333,753 770,519 563,234
= 26,000
Al 1,307,753
22X AFD| & & 15,000 15,000 0
301 et A= 1,000 1,000 0
11 JIEtE A2 1,000 1,000 0
OZZ XY [EHIZ X A& 50,000& *20¢! 1,000
307 2I2t0| ™ 14,000 14,000 0
04 CIZ2tSHALALS B X 14,000 3,000 11,000
OLsHH M=U3 5,000,000& 14l 5,000
O A E&U 3 3,000,000 14! 3,000
OLA2HE ZoUi3 3,000,000& 14! 3,000
OZ2ZAoY sAIE X 3,000,000& x4l 3,000
L AFZEH oA 16,000 16,000 0
301 et A= 6,000 6,000 0
09 HAIAHIBEAZ 6,000 6,000 0
OL=x2te N84 100, 000& 600! 6,000
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M L AIRSEE
el L ALEIE XIE (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
307 QI2t0| ™ 10,000 10,000 0
02 A2t MAIEE =X 10,000 10,000 0
O2z&d A&8XAS X 10,000,000 =14! 10,000
CLSadEA 2 50,000 50,000 0
= 22,000
Al 28,000
307 212t0| & 50,000 50,000 0
= 22,000
Al 28,000
02 I2ZHF AALH B X 50,000 50,000 0
OLsSadEAs 2HEEX 50,000,000& =14 50,000
= 22,000
Al 28,000
SAHE stotE M= 3 8,000 8,000 0
= 4,000
Al 4,000
307 QI2t0| & 8,000 8,000 0
= 4,000
Al 4,000
02 2B AMAEE =X 8,000 8,000 0
O MDA StOISHSsUE K&
8,000, 0003 »14] 8,000
< 4,000
Al 4,000
SY-IZZ A A3 20,000 20,000 0
301 dBtE A= 5,000 5,000 0
09 HAIAHIBAZ 5,000 5,000 0
OEXNANEE DHIZ X AL A
5,000,000& *14] 5,000
307 212t0| & 15,000 15,000 0
02 AABHMANEEX 15,000 15,000 0
OREIZZXN =UHH 15,000, 000& * 14! 15,000
22 NS A2 22 1,165,763 602,529 563,234
101 2124 4| 82,353 82,254 99
04 JIZtHI2E2EXNSE 82,353 82,254 99
OZ2zANsSE=EN2 FA22 X oA 82,353
>II23 48,1003 #3021 %251 36,220
>DEFLE 48,100& #3021 %523 7,504
> a3 48,100 #3021 %251 x4 /12 12,074
>y HZAH| 130,000& #3021 x12& 4,680
DS 2 x| 120,000& *302! x12& 4,320
DA 48,1003 #3021 12 1,732
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SA - FE - BI(EA) - NRAY - By 0l &t San DS
e =] 48,1003 32! x 102 x150% 2,165
DAHLEEE 68,696,000 *2.995% 2,058
PEIRYBE= 2,058,000 *6.55% 135
D=0z 2EE2 68,696,000& *4.5% 3,092
PUEEBES 68,696,000& *1.5% 1,031
DUTHEE S 68,696,000& *1.0% 687
DEIXNSH = 68,696,000 +1/12& 5,725
DEAZZX I=H (G2, 85, €&=)

310,000& »32! 930
201 et 510,964 502,075 8,889
01 AFR 22l 74,670 69,410 5,260
O1 et=ZHl 62,914
DI2ZANSEEXNZ 2Y =34l
500,000& »12& 6,000
DI ME0I 16,0003 #58f A +123 960
DM SEHMSSE(1002 )
2,590% «50& 128 1,554
DotEa fld 2 HASE(SEX 208)
1,100,000& «12& 13,200
DolAIIE 2 400 *1,0000H 400
DHESX 2 90,000 »2¢F A 180
DOHEAS T2 X2+ 150,0008 122 1,800
PEs2AAE #Y 1,000, 0003 * 14! 1,000
DABIE SHAY HUE 248
5,000,000& *2.5/100%12& 13,500
DUELSUA ME(I0H11E) 5002 1,000 500
DAEEI =2 400,000& *42] 1,600
PAagtdd & Ex22 Yy 23|
300,000& 128 3,600
DELINEE === (FIl,==A)
150,000& »1CH 123! 1,800
DOtA FIIEE =2 800, 000& 12 800
DEJItE 2R =2 (FI],Al)
880,000& =122 10,560
DAE HHEASE =2 150,000& »123] 1,800
DESFETEL =2 3,200,000 1Al 3,200
D2 UHEBA =2
230,000 *20H * 12 460
O4 1l =l 500
DOtHOI AT 2R 285 250,000& #2921 500
O5 =&l 7,056
DOt 522 R 7,000 62! «143| x12& 7,056
06 gxt= 4,200
&I L Hld ¢XE 50,0003 *7CH«12E 4,200
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M L AIRSEE
el L ALEIE XIE (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 3294l 436,294 432,665 3,629
O1222=2 % HA 174,940
DTV & AIS 2 6,000& 200~ 12& 1,440
DOIEHY AtEZ 30,000& x50 x12& 1,800
DHNERY FE= 1,500,000& *13] 1,500
DEEIINN BY = 1,000,000& *x23] 2,000
DEIR=S 6,500,000& x12& 78,000
> AGIEERS 7,500,000 x12& 90,000
D> AYOIME | (gat2el k. !Es2el k)
100, 000& *13] 100
D AJ|etA 22| AF B A S| 100, 000& *13] 100
O2 24| 225,954
DItARZ= 18,500,000& 12& 222,000
DANWSH (L) 1,282& xBA| 2t +72 2 x40 2,954
DA (HALEIR) 1,000, 000& 14 1,000
O3 AIE&Hl |AXld] 35,400
DUWEs RULIE N2 3,000, 000& =1CH 3,000
e L FWEI| A2 3,000,000 x2CH 6,000
DEXIIEH WH2el 1,000,000& = 1CH 1,000
D= ’3 AU 1,200,000& *23] 2,400
>agaE HA Y X222l
10,000, 000& * 14 10,000
DEIADRAEE SANES 3,000,000 » 14!l 3,000
DEE2IANAE RAIEL 5,000,000& 14! 5,000
DEIYE SAES 5,000,000 » 14!l 5,000
202 04d| 7,200 7,200 0
01 2L Y| 7,200 7,200 0]
OoZ2zsKX 9FF& | 600,000& 12& 7,200
206 M = Hl 13,000 11,000 2,000
01 24l 13,000 11,000 2,000
o=z XsEgsXa Ha bl 13,000
DA, EA, A MYHT S
1,000,000& 1A 1,000
PeEFA)| EH, A2 S
3,000, 0003 *14] 3,000
DaHE ARE(A)RY 6,000, 000& x 14! 6,000
DaNMEE g M) S 2,000,000& »14] 2,000
DOlHECHOI I (= E AT AFRIA HIXE
) 50, 000& *20H 1,000
207 AT OH £ h| 19,000 0 19,000
02 & A Y| 19,000 0 19,000
OsgaelAAdg 2= 19,000, 000& * 1Al 19,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 508,246 0 508,246
01 A& HI 498,000 0 498,000
OZZ2AEE=XNZ BF 2 A
300,000,000& 14 300,000
OZ2zZNSEg=sN2(E2) 222 SA
113,000, 000& * 14! 113,000
OSEAAE IEN HE RE¥ (I, EAZF)
=N 21,000,000& =14 21,000
OsSEAAE =0 OHE dXEII] 20 &
Xl (599€A) 22,000,000 » 14! 22,000
OA=AE w22 10,000, 0003 * 1Al 10,000
OJIAHANE S 2 10,000, 000& 14! 10,000
O&HIIANE sX2el 5,000, 000 1Al 5,000
OAZAE S 5,000,000& =14 5,000
OZZNEE=R2 AHF A
12,000, 000& * 14 12,000
02 Zteltl 8,734 0 8,734
OZZANEEENZ E=I A Zeltl
300,000,000% *2.06/100 6,180
O ZNEEFSX2(E2) 2L I A 22l
113,000,000% *2.26/100 2,554
03 AlZ 2 THHI 1,512 0 1,512
OZ2NESE SN S=S A 20U
1,512,000& » 14 1,512
405 XHobF S HI 25,000 0 25,000
01 HatL EZFH S 25,000 0 25,000
OSEANAE U ME R LA
10,000,000& 14! 10,000
OS2 (L2) 2220 ¢E &
I8 2L (3ga HAQ 8HE)
15,000, 0002 14! 15,000
A ARE g 2435 58,990 58,990 0
201 L2l 4,990 4,990 0
01 At 2t 2l 4,990 4,990 0
O1 Let==EH| 1,000
DAMEE DEAMSE ENE A
500,000 *20H 2 1,000
O3 2g=¢ 3,990
>LARI OIS L AREOS AMLY
70,0003 *1921+33] 3,990
307 glz2+ol & 54,000 54,000 0
02 It M AMHEE 54,000 54,000 0
OLAMztE 2HAIEE &F 20,000,000 «14] 20,000
O AZE 43t 35 29,000,000& =14 29,000




R A= PRIy

M CAMNE2FEE
el S AtetE IR (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O3E&gol4 g7 & DEHE H4EXZ
5,000,000 » 14! 5,000
JLENFI S35t 32,520 46,750 A 14,230
JIEENRI &3 32,520 46,750 A 14,230
INSEXNRI S 32,520 46,750 A 14,230
201 £B-2dH| 22,320 26,550 A 4,230
01 At 22l 22,320 26,550 A 4,230
O1 g2t 14,200
DIIE=A 222 WA 10,000, 000& * 14 10,000
DIIGAEB8EE X328  350,000&+12& 4,200
O3 2d=¢ 8,120
PEUNRXRZE A& =
70,000 *8021 x4 3] 2,240
PERRINEALS B g
70,000& 721 123 5,880
202 odl 10,200 10,200 0
01 = LH o4 1l 10,200 10,200 0
OJIgsias ol 850,000 »12& 10,200
ng=sd ¢ etE 1,335,100 1,193,930 141,170
=2 248,000
< 240,608
Al 846,492
Hol2 2HUHXSH 84,000 84,000 0
< 30,000
Al 54,000
2 xtel HuEs 18,000 18,000 0
201 Let24d] 18,000 18,000 0
03 A2 S HI 18,000 18,000 0
Oxgarets|(aimldol) 1,500,000& »123] 18,000
FHgblny 29 6,000 6,000 0
201 Ler2d| 6,000 6,000 0
01 At 22l 6,000 6,000 0
O1 get==2Hl 2,000
DHAUE A 2 500,000& *43| 2,000
O3 2d=¢ 4,000
DHAUH WA At 1,000,000& 42| 4,000
Z.OEX JIGEH HSX2AY 60,000 60,000 0
< 30,000
Al 30,000
307 21201 A 60,000 60,000 0
< 30,000
Al 30,000
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JIEH FHSAE AL
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=

= M
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60,000

30,000
30,000
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254,000
127,000
38,100
88,900

589,668

A 335,668

>
o
0t
M

= Hn

254,000

127,000
38,100
88,900

589,668

N 335,668

= 0 W

212,000

106,000
31,800
74,200

521,428

A 309,428

04 DIt 22 XS+

OXNSESSH LXelAe 212,000,000& *1

A

=

= N H

212,000
212,000

106,000
31,800
74,200

521,428

A 309,428

202 o4 Hl

= N W

2,000
1,000
300
700

10,240

28,240
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OXNSSSH LXelmg =
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2,000, 000& *1

A

=

= W

2,000

2,000
1,000
300
700

10,240

A8,240

206 M=l

=z N H
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20

6
14
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,000
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58,000

A 18,000
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A
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= N W
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MY 185N U o
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
101 124 dl 401,660 416,222 A 14,562
< 19,628
Al 382,032
04 12t Z2XREES 401,660 416,222 A 14,562
O3222AY 401,660,000 * 14! 401,660
< 19,628
Al 382,032
201 Let24dy] 1,200 1,200 0
01 At 22/l 1,200 1,200 0
O1 et=2Hl 1,200
DEIZ=AMNY FA 100,000& 128 1,200
202 (44l 3,840 3,840 0
01 SLHOIYI 3,840 3,840 0
OZ23222AME NE&EH 320,000& 128 3,840
2N H=2E 46,400 39,000 7,400
< 8,880
Al 37,520
101 @124l 44,400 37,000 7,400
< 8,880
Al 35,520
04 JIZHHZ2Z2XNESE S 44,400 37,000 7,400
Ol X3 HE e A
44,400,000& =14 44,400
< 8,880
Al 35,520
301 gt d= 2,000 2,000 0
09 A HIE &S 2,000 2,000 0
ogltel2d us 2 32 s 4
2,000,000& =14 2,000
et MM esX R ALY 50,000 60,000 210,000
307 21201 A 50,000 60,000 A 10,000
02 B AAHEX 50,000 60,000 210,000
OUstd AMEES NEAS
25,000,000& 23| 50,000
A ARl EX23 N2AY 360,000 0 360,000
< 144,000
Al 216,000
307 21201 A 360,000 0 360,000
< 144,000
Al 216,000
02 QB AAHEX 360,000 0 360,000
OHE&EYE gXtel Exz NFAAZ
360,000,000& 14 360,000
< 144,000
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134,000

fol
14

o
=d
Ho
0x

= N H
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47,500
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= M W
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10,500

30,000

307 21201 &
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